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Psychology
Paper II

HAEIMHA
QoateRt 11

Time Allowed : 120 Minutes] [Maximum Marks : 200
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

GEAT : A1 YEAULTRALS THY 99T (100) SgUARt 999 ol oTed. Yoo el g (2)
O AR, Wl HY e

1. Which among the following is | 1. TRUIH HYSOTT SURT R0 STSLe

not a Dbarrier in effective U AR ?
communication ? (A) TautcTs ECARED
(A) Competing stimulus

(B) Siorg wfdferan
(B) Snap reactions

(C) Irgan
(C) Correctness

(D) T dETcHIRu]

(D) Group identification

2. HIV treatment at early stage is | 2 AT STEEIHE TAAET STAR F5l

..................... G
(A) ART (A) T
(B) VRT (B) RIS
(C) HRT (C) THIRA
(D) TRT D) STt

3 [P.T.O.



Which of the following alternatives
is true for the statements of
‘Assertion’ and ‘Reasoning’ ?
Assertion (A) : In a folie a deux,
separating the
secondary case
from the primary
can lead to
symptom reduction
in the secondary.

Reason (R) : Folie a deux is a

mental illness
shared by two
persons, of which
one is “dominant”
and symptomatic.

Codes :

(A) (A) and (R) both are true and
(R) is the correct explanation
for (A)

(B) (A) and (R) both are true but
(R) 1s not the correct
explanation for (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

What is the meaning of

“Tasawwuf” ?

(A) Priesthood

(B) Islamism

(C) Suffism

(D) Humanism

In a research elimination of

alternative causes is an essential

feature. This elimination is achieved
only through ...................... method.

(A) Experimental

(B) Quasi experimental

(C) Exploratory

(D) Correlational
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(D) HeHaHS




In an alternate form reliability in

delayed type, the source of error

variance would be :

(I) Content sampling

(IT) Time sampling

Codes :

(A) (I) only

(B) (II) only

(C) Both (I) and (II)

(D) Neither (I) nor (II)

The circle of Willis :

(1) Allows cerebral redundancy

(2) Is formed by anterior branches
of internal carotid

(3) Is formed by anterior and
posterior communicating artery

(4) Is formed by posterior cerebral
branches of basilar artery.

Codes :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1), (3) and (4) only

(D) (1), (2), (3) and (4)

When learning takes place without

actual performance, it is called

(B) Learning distinction
(C) Observational learning

(D) Behavior notification
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T ®9 faveagad=n facifad ghra
* N
AqALTTR J=L0M I M ¢ T9d :

(I) SRR T
(II) &9F YA

Hehdiah :

(A) wxa ()

(B) w=a (1D)

(C) e (I) for (I0)

(D) (I) efor (1) <= el

Tha i fafeaq :

(1) gHfTsh STAERHhdel GLEH Qd.

(2) 3TdleR HUfe

& HUfCS=A 31U hicd™ TR
2.

(3) 37U o UYT HUTH TR daR
Bld.

(4) R T U9 HicdH dIR

B
Hehdieh :
(A) ™ (1) 0T (2)
(B) e (2) iU (3)
(C) W (1), (3) 3Tfur (4)
D) (1), (2), (3) AT (4)
Siegl e fadAEE aed I de

(A) ga 197
(B) @1ezEd 9
(C) THigumeRes sTeA
(D) adA aRedA
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10.

According to Miller (1990) the two
fundamental problems in speech
perception depending on context
are :
(A) Speech is continuous and a
single phoneme sounds
different.
Speech is continuous and that
multiple phonemes sound the
same.
Speech is monotonous and that
multiple phonemes sound the
same.
Speech is monotonous and that
a single phoneme sounds
different.
Match List I with List IT and select
the correct answer using the codes
given below :
List I

(Concepts)
(@) Oedipus
(b) Mandela
(c) Fictional Finalism
(d) Crisis

(B)

()

(D)

List II
(Theories)
(1) Analytical Psychology
(2) Psychoanalysis
(3) Psychoanalytic Ego Psychology
(4) Individual Psychology
Codes :
(@ ®) () (@
A @ & @ @
B 1 3 @ @
< 2 O 3 @

M 2 1O @ O)

9.

10.
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e .
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(@) sfemwm
(b) wSa
() hfcqa aRYuar
(d) T=rgET
aret 11
(1) fogersmorene] AHEeme
(2) HAIAETUER
(3) focvvEEl 318 AHHRIE
(4) KT HHAGITE
Tehdiah :

(@ b)) © (@
A @ 3 @2 @
B @® B @ @
) @2 @O 3 @
D) 2 1 @ O3




11.

12.

Match Column I and Column II
using the codes given below :
Column I
(Postulates of Field Theory)
(@)
(®)
(¢) Life space
(d)

Topology

Valence

Vector
Column II
(Explanations)
(1)
(2)
3)

Psychological Field
Influencing force
Connectedness and part whole
relationship
(4)
Codes :
(a)
(A) 3)
(B) @)
)
D) 4)

Attracting or repelling

®) (©
4) @
@ @
2 B @
1 @ @)

An anhedonic patient shows :

(d)
2)
2)

(A) Memory loss
(B) Fear of heights
(C) Inattention to detail

(D) Loss of interest and pleasure

11.

12.

JUN - 13220/I1—D

Tt feeTedn HehdTehTal SURT e WH
I enfon w9 I wefiel siesn o
w1
(gt fegiare )
(@) YhRfa=R
(b) HeIRH
(c) Sied Aahm™
(d) Hfew
w11
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et
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(A) 3)
(B) @)

b) (o
4 @
@ @
oo 2 6 @
D @ @D @ O3
TSl TomHe § o= faud .

(A) Hfayw

(B) Seit=ft ot

(C) INHHS A

(D) fwe=t o gar=r /™

(d)
(2)
(2)
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13.

14.

Match List I with List II and select
the correct answer using the codes
given below :
List I
(Name of Syndrome)
(@) Clérembault’s syndrome
(b) Dhat syndrome
(c) Capgras syndrome
(d) Cotard syndrome
List II
(Description)
(1) Premature ejaculation and
impotence
(2) Delusional belief that one is
dead
(3) Erotomania
(4) Imposter syndrome
Codes :
(@ b)) () ()
Aa 3 1O @ @
B @ B O @
e @ 2 G @
O 1 @ @ 3
Which

problem ?

one 1s not a social
(A) Government jobs

(B) Poverty

(C) Poor cleanliness

(D) Population

13.

14.
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It 1 3mfor =t 11 Jefied Siren aren ifur

@relt fede dohdis=l ST e
& EIS NI E G U

arer 1
(HeTgTumTel ~Te)
(@) TR A
(b) o FAsTo
() ST FA
(d) ®RE T
arer 11
(i)
(1) I8 TEed d TgHh

(2) ST9U Hd AHIT=N IH
(3) HMEMG
(4) T A9
Hehdieh :

(@ b)) © (@
A @3 @O @ @
B 2 B3 O @
©C @ 2 3 @
D 1 @ @ 3
TIeATeTusht IV HEISS J9 A& ?
(A) TR AR
(B) =i
(C) T Ter=sdr
(D) ke




15.

16.

Given below are two statements,
labelled as Assertion (A), and a
Reason (R). Indicate your answer
from the alternatives given below :
Assertion (A) :Health of human
being is multi-
dimensional.

Reason (R) : Health is a state of
complete physical,
mental and social
well-being and not
merely an absence
of disease.

Codes :

(A) (A) and (R) both are true and
(R) is the correct explanation
for (A).

(B) (A) and (R) both are true but
(R) s the
explanation for (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

In a standardized regression

not correct

analysis, the value of intercept
is :

(A) one

(B) zero

(C) close to one

(D) close to zero

15.

16.
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faam (A) : 995 gvEE AR ©
EREIE T

SR § HWYUid: IR,
qHfaess Ao graThee

ERTCr= TErdt S shees
ANTR=N 31491 319 el

U (R)

PO
(A) (A) 3T (R) & QIl RIS 3T 301
(R) ® (A) = Ig TIOR8,

(B) (A) 21 (R) B Sl sRIsR 371 W
(R) § (A) = I TR0 el

(C) (A) IR 38 g (R) & I 318
(D) (A) T% 3% g (R) ¥ SR 3T

JIford FHISEE faversomes, sTaiee™
e 39d

(A) Th

(B) =
(C) T Sides

(D) I EB
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17.

18.

19.

Group tests are characterized by :

(I) Multiple test administrators
administer the test at the same
time.

(IT) Administration of the test on
number of test-takers at the
same time.

(ITI) Availability of multiple copies of
the test.

Codes :

(A) (I) only

(B) (I) only

(C) (I) and (II) only

(D) (I), (II) and (III)

MRI technique :

(1)

(2)

3)

Relies on hydrogen protons
Requires radioactive isotopes
Uses radio waves and magnetic
fields

Provides clearer images than
CT.

Codes :

(A) (1) and (2) only

(B) (1) and (4) only

(C) (1), (2) and 3 only

(D) (1), (3) and (4) only

Gordon Logan and Joseph Etherton
proposed ..........cccuunen. .

(A) The phenomenon of attentional
capture

Theory of future integration
Attentional hypothesis of
automatization

Automatic processing

(4)

(B)
(&)

(D)

17.

18.

19.

JUN - 13220/II—D
T FEUAE IR S SEA
(D

TehTa Al fafdel ar=oiysTdes
Teh a9l =AM=E0 <drd.

(II) Tshra A fafay Im=oRYTEs

Toh (a9l STAuiEl W qdNd.

(IID)WehT TTEU=AT 3THeh Udl SUcTed
AT,

Hehdich :

A) ®F (D

(B) % (1)

(C) ek (I) afor (ID)
(D) (), (IT) safor (I10)
TH.R.3E. 95l

(1) TASSH WeleR Taeferd

(2) <9 sATdfoess STaEeg=l TS
a9

(3) el @glt 9 gorh &M= AT HLd
4) g%.ﬁ. e Tse YiqaT ST hed

i
(A) Had (1) =TT (2)

(B) Had (1) 27T (4)

(C) W (1), (2) U7 (3)

D) ®F (1), (3) 37T (4)

el e ST 9% 3eReH A

AN A = Lo fa
LATAYhT <hIUIdl ¥/ ATeY J&aldd

Hal ?

(A) TEThisa WIS
(B) yfasa wemsiehtor fagid
(C) TrEaEfe 1au™ T
(D) wE=faa wfhan

10
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20. Which of the following should | 20. ‘stf=n fagiaren’ gR @reitetieh! v
be explained by ‘Theories of e e et ?
meaning’ ? (1) fagmr
(1) Anomaly (2) wWIATE
(2) Self-contradiction (3) HfETean
(3) Ambiguity @) e S
(4) Entailment HRE
Codes : '
(A) e (1) 37T (2)
(A) (1) and (2) only
(B) (1) and (3) only (B) e (1) ST (3)
(C) (1), (2) and (3) only (C) W (1), (2) 70T (3)
D) (1), (2), (3) and (4) only (D) w (1), (2), (3) 3 (4)
21. Which among the following will not | 21. wrelicUeh! KT Teh TS SHeriT= B
increase an individuals group gsied areed A ?
confirming behaviour ? (1) TEMT T SR
(1) Smaller group size.
2) STgIEddsl HreH
(2) Feelings of insecurity. @) . L
(3) When groups cannot observe (3) HeRT W SR A frteror i
individual’s behaviour. .
Codes : Hendieh
(A) Only (1) (A) e (1)
® o w
nly
(D) Both (1) and (3) (©) %3 (3)
22. Ontology refers to : (D) (1) e7for (3) <=
(A) Understand the nature of | 22. TAEaHRTET Swi@ AEE R :
society (A) @ 5
(B) Understand the nature of
community (B) 9™ TEWTE HHSO!
(C) Understand the nature of (C) fova @9E TS
universe
(D) Understand the nature of being (D) AR TTe qHs
11 [P.T.O.



23.

24.

25.

Festivals are examples of :
(A) Enthusiastic Behaviour
(B) Cultural cycle
(C) Social norms
(D) Social values
Match the List I (theories) with List
IT (theorists) :

List I

(Theories)

(@) Disengagement theory
®)
(c)
(d)

Activity theory
Age stratification theory
Person-Environment fit theory
List II
(Theorists)
(1) Lawton
(2)
3)
(4) Havighurst and Neugarten
Codes :
(a)
(A 3)
(B) 4)
© 1 2 @ 3
D 2 & 1) @
...................... is the philosophical

Riley

Cumming and Henry

(b)
(4)
(1)

(c)
(2)
(3)

(d)
(1)
(2)

study of being.
(A) Philosophy
(B) Ontology

(C) Etymology
(D) Spirituality

24.

25.
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I IS0 37",

(B) WiEhids weA=H

(C) FmHISeh e
(D) SIS qed
1 (Fgia) o at 11 (ATel) Sfeseld

G|l IC{Q'IQ"’*H Thdrehlial STl ard

zna’r I
(Frgia)
YAl fagm
forameierar fagma
9 e fagid
- gt gara fagia
Trat 11
(Fagiaesr)
e
R
(3) T emfor &
(4) TARE oTfT JIREA
Wehdieh :
(a)
A) 3)
(B) 4)
©) (D
D) (2)

(@)
)
(c)
(d)

(1)
2)

(b)
(4)
(1)

(c)
2)
3)
4) 3)
1 @

B A= aHcHS

(d)
(1)
(2)

(A) T
(B) SaEaLemE

(C) Hcafeme
(D) eTeATfcHehdl

12



26.

Read the following paragraph and
answer the six questions (26 to 31)
that follow :
A researcher has data (sample n = 500)
on eight personality variables i.e.
Activity, Sociability, Talkativeness,
Warmth, Anxiety, Worry, Anger,
and Depression. The correlation
matrix was evaluated for
factorability by Bartlett’s Test of
Sphericity (p < .001) and KMO = .86.
The eigenvalues were 3.2, 2.4, 0.54,
0.42, 0.41, 0.39, 0.37 and 0.27. She
used principal component analysis
instead of PAF. Using Guttman and
Scree criteria retained factors. The
varimax and promax rotations were
used.
The PCA shall :
(A) result in oblique factors.
(B) be second best to PAF in
extracting variance.
(C) account for less than 100%
variance in full solution.

(D)

result in general factor.

26.
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27.

28.

29.

30.

What is the percentage of variance
first unrotated PCA shall explain ?
(A) 10%

(B) 12.5%

(C) 32%

(D) 40%

Which of the following is correct
about KMO value ?

(A)
(B)

It is low since it is below one.
It is low since it (1 — KMO) is
close to zero.

(C) KMO uses correlations and
partial correlations

(D) No conclusion is possible since
P-value not given.

How many factors can be retained
for rotation using Guttman and
Scree criteria ?

(A) One

(B) Two

(C) Six

(D) Insufficient information

The varimax rotation shall result in :
(A) factors useful for higher order
factor analysis

(B) identical pattern and structure
matrix

(C) different pattern and structure
matrix

(D) phi matrix that departs from

identity matrix

27.

28.

29.

30.
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T 2F-sharad Yrde fohdl foaem v
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(C) 32%
(D) 40%
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31.

32.

33.

34.

Bartlett’s Test of Sphericity results
indicate that correlation matrix of :
(A) population is not identity
matrix.

(B)
(®);
D)

Interscorer reliability is best suited

population is identity matrix.
sample is not identity matrix.

sample is identity matrix.

for the study of ............... type of tests.
(A) Achievement

(B) Projective

(C) Ability

(D) Adjustment inventories
The RAS is responsible for :
(1) Arousal

(2) Wakefulness

(3) Facial expressions

(4) Selective attention

Codes :

(A) (1) and (2) only

(B) (3) and (4) only

(C) (2), (3) and (4) only

(D) (1), (2) and (4) only

Model of letter and word perception
is given by ......cccccuueeee.

(A) McClelland and Rumelhalt
(B) Reicher and Bobbin

(C) James Gibson

(D) Kozlowski and Cutting

31.

32.

33.

34.
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(B) dhE®&dd STHefed]

(A) HURA

(B) w&9u

(C) &\

(D) FHENH =

ANCTYH. TIHES SeleRN 3TEd
(1) SR

(2) St

(3) el WeATE e
(4) dFH IEYH

Hehdieh :

(A) T (1) 37 (2)

(B) W (3) T (4)

(C) e (2), (3) 3T (4)

(D) we (1), (2) 3TfT (4)

&Y SIfoT 3T WAGH YTEW HUA
oed ?

(A) Haclicls M0 EHAGCS
(B) =R onfor sfee

(C) = fime=

(D) HIFAEEh Ao KT
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35.

36.

37.

Three main principles of association

according to Hume are :

(A) Contiguity, Differential
grouping, Familiarity

(B) Contiguity, Differential
grouping, Similarity

(C) Contiguity, Similarity,
Causation

(D) Continuity, Similarity,
Familiarity

Cyber bullying shows which of the
group dynamic behaviour ?

(A) Bystander effect

(B) Social Loafing

(C) Deindividuation

(D) Prosocial effect

What role do hormones play in
human sexual behaviour ?

(A) They affect men’s behaviour

more than women

(B) They can influence, but do not
determine human sexual
behaviour

()

The completely control human
sexual behaviour
(D)

They have almost no effect on

human sexual behaviour

35.

36.

37.
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38.

39.

40.

Which of the following is an
advantage of e-learning ?

(A) Learning opportunities in
remote areas

(B)
(&)

Easy to learn

Learn with learners own
convenience

(D) Education is delivered to their
computer

Alanon is a group intervention for
families of people with :

(A) Mental retardation

(B) Alcoholism

(C) Cancer

(D) Alzheimer’s disease

If KR-20 reliability of a test is found
to be low, then which of the following
could be the most important
reason ?

(A) Inadequate content sampling
(B) Poor interscorer agreement
(C) Higher difficulty level of the
items

(D) Test is lengthier

38.

39.

40.
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(D) f¥reror & = WToTehTer faafia B
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42.

................... is the idea that the
characteristic of a person or group
are significantly influenced by
biological factors and are therefore

largely similar in all human cultures

and historical period.

(A) Metaphysical essentialism
(B) Essentialism

(C) Psychological essentialism
(D) Classical essentialism

Compared to speed test, a
distinguishing feature of power test

1S e, }

(A) Overall difficulty level of the
test is very high

(B)

Test takers are penalized for

wrong answers

()

Number of test items are more

than the speed test

(D) Reverse scoring procedure is
used in calculating the final

score

41.

42.
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43.

44.

45.

46.

The calculation of mental age
basically involves :

(A) Procedure and logic of
developmental norms

(B) Procedure and logic of within
group norms

(C) Comparison of gradewise
performance variation

(D) Comparison of gender

differences on an item in a test
Resting membrane potential is :
(A) 70 mV
(B) 8 mV
(C) =70 mV
(D) -85 mV

According to Yerkes-Dodson law
................... is an inverted U-shaped
function of arousal, with the optimal
.................... level being lower the
more difficult tasks.

(A) Motivation; arousal
(B) Performance; vigilance
(C) Arousal; performance
(D) Performance; arousal

In the Wason selection task for
propositional reasoning, ‘partici-
pants develop a general idea of the
rule, then construct examples
that follow the rule’ is referred to as :

(A) Confirmation bias

(B) Representativeness bias
(C) Construction bias

(D) Mental fixation bias

43.

44.

45.

46.
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(A) IO, SR
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47.

48.

Which among the following is not
a viewpoint of Festinger’s theory of
interpersonal attraction ?

(I) People compare their abilities
and beliefs with others.

(II) People organize their likes and
dislikes in a symmetrical way.

(ITI) People believe the only way to
evaluate the accuracy of your
view in normality.

Codes :

(A) Only (I)

(B) Only (II)

(C) Only (III)

(D) Both (I) and (III)

Which of the following is correct
alternative for the “Assertion and
Reasoning” statements ?

Assertion (A) :Goal setting is most
successful when

people receive
feedback on their

progress.

: When people are
truly and deeply
committed to
reaching them.

Reason (R)

Codes :

(A) (A) and (R) both are true and
(R) is the correct explanation
for (A)

(A) and (R) both are true but
(R) 1is not the correct
explanation for (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

()
(D)

47.

48.
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49. How many disabilities are | 49. 3RUSYS! FrERAUmE fodl 1aHd=
represented in RPWD Act ? gfatfaa &el S ?
(A) 9 (A) 9
(B) 13 (B) 13
(C) 17 (C) 17
D) 21 D) 21
50. Flashbacks are experienced typically | 50. <1 T0MH &1 S{Helt Uiy oFdl dod
by patients who have abused this & MR, e fageEd ¢ reTee
drug : =0 NS A
(A) Nicotine (A) T&EE
(B) Caffeine (B) &%
(C) Alcohol (C) H=
(D) LSD (D) TA.THEN
5 % SRR is the study of nature | 51. 7T B AT TR FHYHATE
of knowledge, justification and g fo=rdia difsherd=n ST 8T ?
rationality of belief.
(A) Etymology (A) =1
(B) Epistemology (B)
(C) Pragmatism (C) Herars
(D) Philosophy (D) dco™
52. “Norms are the average performance | 52. ‘‘HMeh g FHITUTRI0 TH=AT= FUET FHid
of standardized sample”. This B’ ¥ I HIUA AT dedid
statement is true for which type of 3 ?
1(:Ie)StSPi;rsonality test D) =Rl =T
(IT) Aptitude test (D) a?ﬁm'qa'[ =it
(ITI) Achievement test (I’H)W Rkl
Codes : Hehdleh
(A) (I) only (A) e (D)
(B) (II) only (B) ek (1)
(C) (II) and (III) only (C) e (II) efur (III)
(D) (@, dI) and (III) (D) @), A1) swfor (II1)
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53.

54.

55.

Which among the following is the
chief inhibiting neurotransmitter ?

(A) GABA

(B) Glutamate
(C) Noradrenaline
(D) Dopamine

The results are not depending on the
sensitivity of the observer alone, but
also on the decision criteria used by
the subject. This is a key assumption
method/model.

(A) Method of Error

(B) Fast-Guess model

(C) Deadline model

(D) Signal detection method

Which of the following is not true
of Divergent thinking (DT) ?

(A) DT test scores have often failed
to correlate with plausible
indices of creative achievement
and behavior

(B) Binet’s measures like “Sentence
Invention” and “Ink Blots” are

examples of DT tests

(C) DT has failed to predict

creativity

(D) Wallach and Kogan developed
DT tests

53.

54.

55.
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56.

57.

58.

According to Adler, first borns,
compared to later borns, are

usually :

(A) More rebellious and impulsive
(B) Less open to new experiences
(C) More self-conscious

(D) Less successful

The well known Stanford prison

experiment was done by ................. .
(A) Kurt Lewin

(B) Norman Triplett

(C) Leon Festinger

(D) Philip Zimbardo

factors/variables

influence the eye witness

identification in conditions where

the event was actually witnessed.
(A) System

(B) Confounding

(C) Estimator

(D) Misleading

56.

57.

58.
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59.

60.

Match List I with List IT and select
the correct answer using the codes
given below :

List I
(@)
)
(c)

Hypothalamus
Lateral hypothalamic damage

Ventromedial hypothalamic

damage

(d) Changes in levels of Glucose
List II

(1)

2)

Causes extreme over-eating

Responsible for monitoring food
intake

3)
4)

Regulate feeling of hunger

Leads to refusal of food and
starvation

Codes :

(@)
(A 4)
B) 3)
C) @)
D) (2)

(b)
3)
(4)
4) 1) O)
1 @ O

Agnosia is an inability to :

(c)
(2)
1)

(d)
(1)
(2)

(A) Remember words
(B) Recognize objects
(C) Localize sound

(D) Maintain balance

59.

60.
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Hohdral IR HEA AFT IW A
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HURAAETH

(b) TS AETTMEATE HEI

(c) I/NAA HEAH! STERAATS BT

(d) TR U aed
Tar 11

Ffd @ Wed FOIET w0

3 AT SIS Saee R

(@)

(1)
2)
3)
(4)

eI CEIC I EREE M T

JUTRTT RO (VT =TT R S0
I S0

Hehdich :
(@)

(A) (4)

(B) 3)

<€ 2 @ @O 3

D 2 O @ 3

I WU B wEE A

(A) v &I @Ol

(B) &

(C) efarsr=T fogm o

(D) T |80

(®)
3)
(4)

(c)
(2)
(1)

(d)
(1)
(2)

24



61. Match column I and column II by

using the codes given below :

(a)
(b)
(c)
(d)

(1)

(2)

3)

(4)

Column I
(Virtues)
Courage
Wisdom and knowledge
Temperance
Transcendence
Column II
(Meaning)

Appreciation of beauty and
excellence, gratitude, hope and
religiosity/spirituality
Forgiveness, modesty, prudence
and self-regulation

Authenticity,
persistence and zest

bravery,

Creativity, curiosity, open-
mindedness, love of learning

and perspective

Codes :

A (D
B) 3
C) @
D) (2)

(@) ()
2)
(4)
3)

3)

(c)
3)
(2)
(2)
(1)

(d)
(4)
(1)
(1)
(4)

JUN - 13220/I1—D

61. WY I o1 Tq9 II IHeied Siredr A

9 YeId HehdihreA SER S

(@)
®)
(c)
(d)

(1)

2)
3)
(4)

w1

(FTO)
3t
TRIOTAUT S0
THEOT
TR

wy 10

(3reh)

digd a9 el HeR, Fawdl, ST
o faeegl/ Sreatcrend

TSN, [, SRaen & W&
TG, I, feenel enfor scme

TeieTerar, TSI, Aehesan A
Yod, e YA oAt aRged

- -
.
-

A
(B) 3
C) @
D) (2)

(@) (b)

(2)

(c)
3)

(d)
4)
(4)
3)

(2)
(2)

(1)
(1)
3)

1 @
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62. Match column I and column II using

63.

the codes given below :
Column I
(Theorists)

Rollo May

Viktor Frankel

Carl Rogers

(@)
®)
(c)
(d) John Dewey
Column II
(Concepts)
1)
2)
3)
(4) Existential analysis
Codes :
(@)
(A 3)
(B) 4)
<o @ 3 @
D 2 G 1 @

Which of the following statement/s
is/are true about the item
analysis ?

Positive self regard
Reflex arc

Existence stages

(b)
(4)
3)

(c)
(1)
(2)

(d)
(2)
(1)

(I) It involves qualitative analysis
of test items

(II) It improves the validity of the
test.

Codes :

(A) (I) only

(B) (II) only

(C) Both (I) and (II)
(D) Neither (I) nor (II)

JUN - 13220/I1—D
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(II) & =m=vi=l Jedr arefad.
Hehdiah :
(A) % (D
(B) % (I1)
(C) (I) 77 (IT) 3r=ret

(D) (1) o (II) Sr=rer ATet

(®)
4)
3)

(c)
(1)
(2)

(d)
(2)
(1)
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64.

65.

66.

67.

Neurofibrillary tangles and plaques
are seen in brain scans of patients
with :

(A) Traumatic brain injury

(B) Temporal lobe epilepsy

(C) Alzheimer’s disease

(D) Meningitis

When both horizontal lines are of
the same length and have the same
visual angle, but on the top appear
longer. What is this illusion
called ?

(A) Muller-Lyer illusion

(B) Ponzo illusion

(C) Visual illusion

(D) Depth illusion

According to law reaction

time in task is linearly related to the
amount of information transmitted.
(A) Donders

(B) Hick-Hyman

(C) Posner-Mitchell

(D) Matters-Millers

Which approach to personality see
personality as something which is
measurable ?

(1) Ideographic

(2) Nomothetic

(3) Social-radical

Codes :

(A) (1) is correct

(B) (1) and (2) are correct

(C) (2) and (3) are correct

(D) (2) is correct
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68.

69.

70.

Which of the following is not a

subtest by Guilford’s to measure of

Divergent Thinking ?

(A) Symbol Coding

(B) Consequences

(C) Plot Titles

(D) Alternate Uses

Which of the following statements

is not correct ?

(A) Evolutionary perspective
focuses on evolved adaptations
that helped our ancestors
survive and reproduce

(B) Socio-cultural perspective
focuses on how behaviour is
influenced by group level factors
such as social class and
nationality.

(C) Socio-cognitive perspective

focuses on past experiences

with direct and indirect rewards

and punishments.

(D) Psychoanalytic perspective

focuses on interactions among

three component parts of mind

As people are studied repeatedly as

they grow older. This approach of

studies is called as .................... .

(A) Cross-sectional

(B) Longitudinal

(C) Cohort

(D) Sequential

68.
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70.
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71.

72.

73.

Positive affectivity and Negative

affectivity schedule is standardized

by :

(A) Watson, Clark and Tellegen

(B) Weston, Collins and Twenge

(C) Tellegen, Weston and Clark

(D) Willson, Clark and Tellegen

Out of the following which one is not

a part of Ashtanga-Yoga ?

(A) Yama

(B) Niyama

(C) Dhouti

(D) Pranayama

As a measure of item difficulty

P = 0.15 would indicate that :

(A) The item is relatively difficult
compared to an average

(B) The item is relatively simple
compared to an average

(C) The item is erroneous

(D) The item needs to be deleted

71.

72.

73.
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ThRIcHeh  TEACHehal 30T TehRIcHeh

et
(A) Sow, FerE S Selfor
(B) ¥, Fref s i
() chifom, dwe sfn e

(D) faoum, Fomen emfor SefifeH

TATAIHRT HIOTAT AT T- AT
I A ?

(A) o™

(B) f=m

(C) et

(D) wroTETH

faema =wiferaurasm |19+

P = 0.15 <¥fad =t

J—GUL\:{

(A) TOE=A gorna faud e eTe
(B) SUE=AT el fae@ |ig e
(C) faum g&= o

(D) faem =areviqs STevar=t TRl 31
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74. Match List I with List IT and select
the correct answer using the codes

given below :

(Traditional Terms)
(@) Telencephalon

(b) Diencephalon

List 1

(¢) Mesencephalon

(d) Metencephalon

List II

(1) Cerebellum

(2) Tectum

(Structures)

(3) Cerebral cortex

(4) Thalamus

Codes :

(a)
A) ()
(B) 3)
©) @)

D) @)

(b)
(2)
(4)
(1)
3)

(c)
3)
(2)
(2)
(1)

(d)
4)
(1)
3)
4)

JUN - 13220/I1—D

74. It 1 enfor At 11 Hefie S o
et feeiedn Gehdran ST e aiel
IWEl fag &0 e

et 1
(URuRer €1
(@) TTEHAN
(b) SETTHEAM
(c) TETHEAN
(d) TeTHHAN

(1) wHi&TSh

(2) =R

(3) YHAKSh =Tedeh
(4) <IdaYh
Hichdleh :

(@ ®) (© (@
@a @O @2 6 @
B B3 @ @ @
< @ @ @ B
D @ & @O @

30



75. Match the following concepts with

functions :

(a)
®)
(c)
(d)

(1)

(2)

3)

(4)

List I
(Concepts)
The trichromatic theory
The opponent-process theory
Retinal disparity
Convergence
List II
(Functions)
The slight difference in lateral
separation between two object
as seen by the left eye and right
eye.
The turning inward of the eyes
which occurs when they focus
on a nearby object.
Second state of colour
processing.

First level of processing which

occurs in the retina of the eye.

Codes :

A (D
(B) 4)
©) @2
D) 3)

(@) (®)
2)
3)
1)

4)

(c)
3)
(1)
4)
(2)

(d)
(4)
(2)
3)
(1)
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75. It 1 (Heheuar) amfor ot 11 (i)

I Sedl A@l 9 e Hehdlhr=A
AR S ;@ :

(@)
b)
(c)
(d)

(1)

2)

3)
(4)

arer 1
(Feheu)
i fagia
faeft-ufwan fagia

TUeA  STHH

ATYEXT
Iqrar 11

()

T orgaEie Uivel forerieRtomdie
forfad & SN e ST Sete
Slesat ITfeett STl

<les AT STS[H TesaTd Sogl STl
TSI ST TR A whisd
Hl

T gfshaet gERl aferee.
JUY Udesrdl WAl S SleddTe

N N
A4cld Hdsd.

- -
-
-

A D
(B) 4)
C) 2
D) 3)

(@) (b)
2
3)
(1)

4)

(c)
3)
(1)
4)

(2)

(d)
(4)
(2)
3)

(1)
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76. Match List I with List II and select
the correct answer using the codes
given below :

List I
(Theorists)
(@) Jung
(b) Adler
(¢) Horney
(d) Erikson
List II
(Concepts)
(1) Hypercompetitiveness
(2) Epigenetic principle
(3) Archetypes
(4) Social interest
Codes :

(@ b)) () ()
A @O G @ @
B @ @O @ @
< @ 3 @ @
D Q3 @ @O @)
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76. It 1 enfor It 11 ameid Siedr dmen
9 Eid Hehdleh=Al STER IW T ¢

arar 1
(Fagidenn)
(@ g
(b) R
(c) =
(d) TReE

(1) stfaeasd

(2) AT T
(3) mfeEy

(4) GRSy
Hehdich :

(@ b)) @ @@

A 1 3 @ @)
B @2 @O B @
© @ 3 @ @
D 3 @ @O @
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77.

78.

Assertion (A) : Collins
Quillian’s network
model found that
to take

longer to verify “A

and

people

shark is an animal”

than “A shark is a

fish.”
Reason (R) : According to
hierarchically
closer super-
ordinate category
are easy to recall
than remote super-

ordinate category.

Codes :
(A) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A)

Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
Which model that
aggression is triggered by a wide

(B)

suggests

range of input variables that
influence arousal, affective stages
and cognitions ?

(A) General aggression model

(B) Drive model

(C) Frustration aggression model

(D) Provocation model

77.

78.

JUN - 13220/I1—D

faam (A) :=ifaw sufor feafaas
I HegSh Hige I
7 U9 smg’ Uam ‘v
9o R’ § wegrad
HITTETST Iferd 3B
AT

At vigar Saz=a1
UATEAe vl =
siifede gofidan TR
FO 9U TR

T (R) :

Hehdieh :
(A) (A) 9 (R) 8 aeX 3ed, Wy
(R) T (A) o T TR0 TGl

(B) (A) 9 (R) Tl ISR 37Ted, ST
(R) ¥ (A) ¥ 3T9h TILRI0T 3T

(C) (A) T SR 38, g (R) T I
3R

(D) (A) § I 3R, Wg (R) § IR
3

fafay gerr=t afteed =r=n aftomg SeRo,
qfeh TH 9 NYAER 8ial, STehHehdel
TR AT, S HI0d Fiaed HqTd 2

(A) HHM SATHAGRA Jfaey
(B)
©)
(D)

yeiedl gfaey

ThHed-3Th T Ffdey

Tt gfaey
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79.

80.

Match the following List I
(Developmental Stages) with List II
(Age)
List I
(Developmental Stages)

(@) Early childhood

(b) Middle childhood

()
(d)

Late adolescence
Adolescent
List II
(Age)
12-18 years
16-18 years
5-12 years

(1)
(2)
3)
4)
Codes :
(@)
(A 4)
B) )
© @2 @ @O B
O 1O 2 6 @
Which is odd among the following
for HIV ?

1-3 years

(b)
3)
(1)

(c)
(2)
4)

(d)
(1)
(2)

(A) Use of same syringe
(B) Blood transfusion

(C) Sharing drinking water
(D) Feeding mothers

79.

80.
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et I (Seh1ideR 3Ter<ern) o It I1 (a9)
oo el feeied Fehdrdiel Saur 4R

g faer .

arer 1
(SenTiaeh  3TaILe)
& ATcarerE
e ATeaTEEe

(@)
)
(c)
(d)

ST HHREE

ARG
It 11
(CR))

12-18 =l

16-18 9

(3) 5-12 9d

4) 1-3 9d

Hehdieh :

(@)

(A) @)

(B) 3)

© 2 @ QO O

O @ 2 6 @

TIAT TSl Weaieh! v fooe

e ?

(A) V& R STERT 0]

(B) & GHHT

(C) fuvaren qwam= YR

(D) 9 h{UM=A1 HIdl

(1)
2)

(®)
3)
(D

(c)
(2)
4)

(d)
(1)
(2)
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81.

82.

83.

Which among the following schools
emphasized on Introspection as a
method of study ?

(A) Gestalt

(B) Structuralism

(C) Humanistic

(D) Existential

Which of the following is a correct
about assumption of homogeneity of
variance in ¢-test ?

(A) Sample variances of both
groups are equal

(B) Population variance is normally
distributed

(C) Sample variances are equal to
population variances

(D) Population variances of both
groups are equal

When the rater knows student’s
standing on an aptitude test and he
is asked to rate the student, then this
is considered as an example of :
(A) Cross validation

(B) Criterion contamination

(C) Criterion validity
(D) Face validity

81.

82.

83.

JUN - 13220/II—D
Aqfaeror g e gHYgd AR 3Td

Gt I foaRyae™ SR <3
Hiftaar 2

(A) FHR!

(B) HT=HE

(C) HIerdreal

(D) SAfTEaRT!

-3 weEfa fagaar=h
a faY LN N N LN ~
TTRIdehT=AT dTeiid Jaietdehl Shivld sIeX

A ?

Uen A HIdl

(A) =T e T for=e 9 TR
(B) TIRhEEA fa=ie € | foraeer o

A TR,
T T sttt deheen fa=em
TAE 3.

Sl T Ahaed fa=ed 9re
3.

gl USY= e Shium=a1 Hekiy foenear=
SfYemaT ImEUeRe T Afed 3THd

o e M faeneats Afyerddn
T THYEaT ST A o Uishaet o1

TRUIdrd

(A) fads Feneffenton
(B) T gl
(C) fre Fenedan
(D) H@a JAreddl

(&)

(D)
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84.

85.

86.

Lumber punctures can be used to
diagnose :

(1)
(2)
3)
(4)
(A)
(B)

Bacterial meningitis

Viral infections

Brain abcess and tumor
Multiple sclerosis

Only (1) and (2) are true
Only (2) and (3) are true

(C) Only (2), (3) and (4) are true
(D) Only (1), (2), (3) and (4) are true
Unmyelinated intervals on axons
are called :

(A) Myelin gap

(B) Nodes of Ranvier

(C) Schwann cells

(D) Axonal void

The feeling of being aware of
knowing something and being
confident that will be remembered,
but unable to retrieve the
information at that point in time.
This called

phenomenon is

(A) Suppression
(B) Repression
(C) Tip-of-tongue

(D) Interference

84.

85.

86.
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Hicee=T T MEA™E I &ad
(1)
(2)
(3) Tgd TIHH I W

(4) HAfeeda WRAUEH

(A) TR (1) S0 (2) s 3T

(B) e (2) IO (3) sHIsR 3R

(C) ®H (2), (3) MO (4) SN &
(D) e (1), (2), (3) 3T (4) SR 7%
3187 I AR FHeiedl ARt 319
TEEaE

(A) HEfeq Mg

(B) TeH 3% TAfER

(C) wor Tt

(D) THRIA ®IES

RIS Wifedt STHUaT= STofie 7oy Sifor

q ST T AT STCHITT 3Tl

TG ol <t Aifed! AT F Shar Jo.

0

FREa A Sfeq

Spldlel S haRI~]
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87. Which of the following is not a | g7 JEIcTteh! hIv SfyTse W AR 2
property of language ?
A) frafgaer wxfaa
(A) Regularly structured &)
(B) Generative, productive (B) 3UIEHEH, 3HCh
(C) Highly derivative (C) 3Tcdd =Tl
(D) Dynamic (D) Tfasita
88. Choose the correct alternative from 88. &ESA styEl ARG @ea
the following about Assertion and T s T fee w4
Reasoning ? )
faam (A) : gfoare T fonar SUafan
Assertion (A) : Trivialization is a . -
¥l Teh fogamer e
method of . .
AT dEdl ST
managing disso-
HRUT (R) : TUifasis onfor adq ©
nance
Reason (R) : Attributes and : T, L 7y
behaviours which .
are not important Hehdiah :
are . thus S not (A) 3R (A) aTfor (R) Tt e St
consistent. A) & STIF TR
Codes :
(B) (A) B ¥ 31 M0 (R) § 39
(A) Both (A) and (R) are true and _—
(A) is the correct explanation.
(B) (A) is true and (R) is false (ORCVY e W (R) & ¥
(C) (A) is false but (R) is true e
(D) Both (A) and (R) are false (D) (A) 2o (R) € SIEET S 3T
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89.

90.

91.

Somatic and visceral changes occur
when an emotional stimulus is
perceived is proposed by ..................
theory.

(A) Arousal

(B) James-Lange

(C) Schachter’s self-attribution
(D) Cannon-Bard

When distribution of income
consumption or expenditure taken
in relative terms with poverty, it is
known as .......ccee.... .

(A) Absolute poverty

(B) Relative poverty

(C) Low line of poverty

(D) High line poverty

A person with moderate mental
retardation has an IQ in the
following range :

(A) 70-90

(B) 35-50

(C) 60-70

(D) 20-35

89.

90.

91.
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Siegl Wrefeh SfEUshre Hoed Bid gl

SHIfeh ST STARE dqa S Jard, 3T

fagia weaifad o1,
(A) SR

(B) -

(C) et T -feeieran

(D) HAA-d1S

ST EATaa=a1 |98l YA Sogl

I 399 foRam @ faawor Sde
Sl de’l o
SiGH

(A) e eifey
(B) wmue TqIgd
(C) <=t =1 o

(D) <TIRGm=T 3= 1o

Al HegEl KAl Ffeione &l

T Sl
(A) 70-90
(B) 35-50
(C) 60-70

(D) 20-35
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92.

93.

The term psychoneuroimmunology

is associated with which of the

following ?

(A) The relations between
psychological factors, brain and
immune system

(B) The relations between lympho-
neuro-endocrine

(C) The relations between
endorphins, sex hormones and
growth hormone

(D) The relations between serotonin
and endorphins

According to Buddhist teachings

‘NIRVANA’ represents an escape

from wheel of life and death, which

is a doctrine carried over from :

(A) Judaism

(B) Hinduism

(C) Sufism

(D) Jainism

92.

93.
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TSI T &TIRIE €S-l Seiietieh!
IO TR HEedia ey ?

(A) 9HfEe w2, #g Sftr wfqermdr-

Tgdeial gae

(B) AfERI-HSITeq—STaemeAele Taiy

(C) Teifwa, fem vfarm enfor g
PIRICE RIS C D]

D) v enfor weifeaneia
e

Sig fepeniigeR,  fafn’ wor geg snfor

STTE=hTaTgA gehl, & qeagua!

PO Sl el ?
(A) Zgal o

(B) feg v

(C) gHER

(D) SEH
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94.

95.

WAIS-IV (India) 1is

characterized by the following index/

mainly

indices :

(I) Full scale 1IQ

(II) Verbal Intelligence Quotient

(ITI) Performance Reasoning Index

(A) (I) only

(B) (II) only

(C) (I) and (II) only

(D) (I) and (III) only

Which of the following alternatives

is correct for the Assertion and

Reasoning statements ?

Assertion (A) : DIQs as measure of
intelligence are
preferred over 1Qs.

Reason (R) : To overcome the

decimal fractions in

IQ values DIQs are

used.

Codes :

(A) (A)is true and (R) is also true,

but (R) is not the correct reason

of (A)

(B) (A) is true and (R) is also true,

and (R) is the correct reason

of (A).

(A) is false and (R) is true

(A) is true and (R) is false

(&)
D)

94.

95.
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[

WAIS-IV (India) &1 194
TTeiedsht wo fdemes & dferse
JMed ?

) goi-=r=eh 1Q

(1) ¥nfge Fhgaa o

(IID) et feheherdar ok

(A) Bk (I)

(B) e (II)

(C) (I) awfur (II) ek

(D) ) aAfor (1) e

a8 (A) 3701 R (R) = faemrEs wid
qElcTieh! IVl TAT AR AR ?

fagm (A) : gfgHae Ak = DIQ
M IQ= Taria it fee
S

IQ A1 T[UNehdiel ST

U T@TEEE! DIQ

T (R) :

I AR bl Sl
PO
(A) (A) T T8 otor (R) & e 2T,
™ (R) § (A) ¥ Irg SR A&

(B) (A) ¥ g A1 (R) & 9T 3T,
M (R) ® (A) 9 979 R0 3R

(C) (A) 3TTH A® A0 (R) T 3R

D) (A) I 3T 271 (R) 319 378
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96. Match List I with List IT and select | 96. @&l I ol =t II Hefiel e efre,
the correct answer using the codes {9'1?'“' i\qmm’ﬂ f*""""'i""’"“ UM &
given below [ ITET A€ h{

List I T
(Brain area) (ﬁg\%ﬂ ferwrm)
(@) Broca area (@) ST e
(b) Wernicke area (®) affE o
() PFC (© HrTwE.
(d) Primary motor cortex (d) WA FRE e
List II RIEUBY
(Function) (D)
(1) Non-reflexive movement (1) vfagureafaie srerrd
(2) Speech production (2) ar=n gstA/fEi
(3) Planning and organization (3) HAS o HEH
(4) Speech comprehension (4) dr=n Sehad
Codes : Hehdich :
(@ ®) () () (@ ®) () ()
A 2 @ & @ A 2 @ 6 @
B) 1 @ G @ B 1 @ 3 @
€ 3 O @ @ < 3 1 @ @
D @ @ @O 3 D @ 2 @O O3

97. Good recall of items of the beginning | 97. T ST FEATIC IR T
of the list is referred to as the ST ST, desl g 3
.......................... W’

(A) Recency effect (A) IR TRom
(B) Primacy effect (B) 3fa 9RomH
(C) Primary recall (C) mafHeh FmEeA
(D) Recognition (D) TR
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98.

99.

Spearman introduced the concept of
g and s factors to reason with which
of the following observations ?

for a
of
variance in the intellectual
ability

Raw scores on intelligence tests

(A) Heredity accounts

significant proportion

(B)
tend to increase with age
(C) Rearranging the order of the
tests along the edge of the
matrix he always could get
what he called a “hierarchy”
(D) Crystallized intelligence is
immune to aging effects
whereas fluid intelligence
displays greater in stability
Wallas'

creative thinking consists of which

Four Stage account of

of the following ?

(A) Inspiration, Research,
Incubation, Confirmation

(B) Preparation, Inspiration,
Incubation, Verification

(C) Preparation, Incubation,
Inspiration, Verification

(D) Inspiration, Verification,

Incubation, Confirmation

98.

99.
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EcATeTdeht shivren fAOemg fegeyTa
STt 3TfYr T weehi= Hehou T 9IeY shedt 2

(A) Sifgeh eToaHEd SaRTHRTS JH
TS YHTMER Bl

(B) SfH =TEvaERid HeA Ui
TATHR =l

(C) =M=vIr=Al AW JAHaId hedrd
HfeeRg=a sheell < el * ueTIsRH
Ul d fHesd.

(D) frEearses fgHaw

YHTETIRA o 378 R S ffgH
arfyer erfeeRar wef¥fd .

TIATHT

Jierd geeial faemr=n 9r =ond

EelcTieh! hYM=T THEY 3R ?

(A) IO, GG, STTUO, TeerehIul

(B) dar,

TIOT, SCHTEA, TS0
(C) TR, 3TAqIooT, UM, USdTedui

(D) IO, HATIH, AUEO], TR
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100. Match List I with List IT and select

the correct answer using the codes

given below :

(@)

(b)

(c)

(d)

(1
(2)
3)
(4)

List I
(Concepts)
Cognitive and physiological
aspects of behaviour
Emotional stimulus visceral
and skeletal muscle changes
Stimuli, subcortical systems and
emotional experience
Innate neural programme and
primary affect.
List 1I
(Theorists)
Silvan Tomkin
Cannon
James and Lange

Schachter and Singer

Codes :

A (2
(B) 4)
© 3
D) (D)

)
(1)
3)
(4)
(2)

(c)
(3)
(2)
(1)
(4)

(d)
(4)
(1)
(2)
3)

(@)
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100. It T 37for =t 11 Ireitel Siresn orel

9 EId Hehdloh=AT STER W T ¢

(@)
®)

(c)

(d)

(1)
2)
(3)
(4)

et 1
(HeheT)
qIae g A IR e
arafer 3feues, STauT 1o Thehred
=

IS, IAYHRETS dgdr AT

GICIEE G

3USId JaT hEsRH STfoT grafdes
TR,

IJrat 11
(Heheu™)

oo etafe

~

B
ST ST e
R o faR

- -
.
-

A) (2
(B) 4)
€ 3
D) @)

(c)
3)
(2)
(1)
(4)

(d)
4)
(1)
(2)
3)

(@ (®)
(1)
3)
4)

(2)
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ROUGH WORK
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